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Introduction to mmaa Novs

71122 1900 addresses, as its name implies, the various 117193 which have a special status and therefore must be processed in one form or another.
There are essentially three types of mmawhich have some special status:

1) A1 anna 13— the firstborn of any ovine or bovine, which is given to j3, if opN—as 1377

2)  o7N 1133 the firstborn male of 581’

3)  ANpY pna 13— the firstborn donkey which is redeemed for a lamb, which is given to ji72but has no 7Y17P
Every one of these has its own parameters, exemptions and procedural systems. The novn begins with the one with the fewest complications — 7122
ANpY Apnaand the entire first chapter is dedicated to that topic; the relevant o9 will be cited on p. 2

31.1.1; 2a (18 mwn) 2 3a (1227 723 1912 K2 ROW ROT K2H))
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I 1x mwn: exclusivity of nxnv RN M2 ("IN 09” — N"0a) to HYRIW ownership per HR1wa (v. 1)
a if: a YR buys the firstborn embryo of a non-Jew’s donkey, or if he sells it to him (which is forbidden — :x 1)
b orif: they become co-owners or he does nYap or gives the donkey n%apa — in all cases, 7109
i 7537 the owner gives the animal to another for birthing and the worker shares a percentage of the foals
II  Analysis of mwn
a  justification: if we only learned exemption for np9, X"10 since he is bringing the donkey into nwyTp (>no naw narvn)
i but: when he sells it “out”, we should fine the seller to give n"va to 11>
ii  and: partnership is taught to oppose nT’ *1’s opinion (n"2Y1 Mamw —>21»n)
iii  and: 9apn is taught to correspond with n%2p2 1% 1M, which is needed, ®™7o the '987w’ should be fined, so that he
doesn’t mistakenly exempt himself when he fully owns animal — 5"np
b analyzing 7177 *7's opinion: in YR 1"y, NT’ "1 permits selling a N NN to a non-Jew if it is “broken” (nMaw)
i questzon would he permit selling an 121v, which is also (currently) non-functioning? or, since the 121 is “behav-
ing” as is usual for an embryo, it is forbidden
ii  proposed answer: in our mwn, selling 721y to non-Jew includes line “'®¥7 1WRY 8”YR” and N’ "1 doesn’t respond
1 rejection: our mwn also lists exemption of mamw, which nTin "1 certainly opposes->silence isn’t telling
iii  proposed solution: nmn’ " rules that if someone is Yapn from a non-Jew and it gives birth, we estimate value and
he gives %2 of that value to the jn3; if he gives it n'%apa to the non-Jew, although prohibited, we estimate value
and multiply it by 10 and give the entire amount to jn3
1 assumption: the “although prohibited” is referring to the 121y
2 rejection: that phrase refers to the mother (which all will agree is prohibited)
(a) challenge: the Rn»11a refers to Y071 NTWY (masculine - i.e. the 121p)
(b) correction: should read mnTa (feminine —i.e. the nnna)
(i) challenge: ruling is to give all moneys to 1n3; but jn3 has no reason to get fine on giving mother
3 rather: case is where he gave the pregnant donkey to non-Jew for fattening; since we fine him for the don-
key, we also fine him for the 121 (and that goes to jn2)
iv  solution ("wN “7): RN»11 — AT "1 permits selling a NMaw, since it won’t heal - if it would get better, 1ior
1 and: 121w is certainly “mrainn? 9120”7 - nmi 1 would agree that it is MOR to sell 121y of N NnNNA to non-Jew
v note: some learned this entire give—and-take as commentary on our mwn; to wit — would »" subscribe to prohi-
bition mentioned in nwn (for selling 121) etc.
vi  question: is it permissible to sell a donkey for its foals (only) — could be asked to »™ or to 1321
1 »if he permits a nmaw which he fully gives up; certainly here where he doesn’t relinquish ownership
(a) or: he wouldn’t confuse a "Maw for a healthy animal; but here, we have reason to create precaution
2 n237. same considerations — in reverse; perhaps they prohibit nmaw because he fully relinquishes ownership
(a) challenge: that isn’t 1317's reason for prohibiting n1aw
(i) am772 they responded to N’ 1 that they will breed the nmaw (= keep it around&work it on naw)
(if) answer: that is 1327’s response to 77’s argument; their own reason is NPYW1 *MONRY MR RNY*T
1. »#r wouldn’t happen, as a "m12w refuses to be mated (lit. “won’t accept the male”)
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3 proposed solution: our mwn doesn’t mention 'RWI 1WRY 9”YR in re: nYapa1» i (zselling for o)
(a) block: partnership is also mentioned without an explicit note of its prohibition
(i) and: per YRNWT MaR, partnership with 0"y is prohibited, per concern of v. 2
(ii) rather: the silence isn’t telling; similarly, silence about n%apa jm doesn’t indicate permission
1. note: explicit prohibition mentioned in re: selling; as that is the fundamental problem
4 proposed proof: Rn>1 (above) N “1 rules that if someone is apn from a non-Jew and it gives birth, we es-
timate value and he gives V% of that value to the jn3; if he gives it n'Yapa to the non-Jew, although prohibited,
we estimate value and multiply it by 10 and give the entire amount to jn2
(a) oo as long as the ownership (“hand”) of the non-Jew is present at any stage — 011310 jn N0
(i) assumption: reference is to animal (mother)
(ii) correction: reference is to 12y
1. support: fine is up to 10 times its value (and goes to jn2) >reference must be 12y
(b) note: this fine supports 5™’s ruling — if one sells a no) NN2 to a non-Jew, we fine him up to 10 times its
value (to buy it back)
(i) question: did 51 mean exactly up to 10 times its value?
1. proposed solution: 9”2 rules that if one sells his 5" to a non-Jew, he is fined up to 100 times his
value (to buy the 72y back, and then to free him)
2. inference: both numbers are exact; else they could have used 10 (or 100) in both cases
3. rejection: in the case of an 71p, we would require more, as every day he is not fulfilling nnxn that
he could have under Jewish owner
(c) alternate version: 9" ruled that if one sells N3 NnN2 to a non-Jew, he is forced to buy it back — even to
100 times its value
(i) question: did 5™ literally mean up to 100 times its value, or is this hyperbole?
1. proposed solution: 9”2 rules that if one sells his 5" to a non-Jew, he is fined up to 10 times his
value (to buy the T2y back, and then to free him)
2. inference: both numbers are exact; else they could have used 10 (or 100) in both cases
3. rejection: in the case of an animal, we would require more, as he will get it back; in the case of an
T2y, we wouldn’t fine him as much, as he will subsequently go free
a. challenge: if the consideration is that the nnna will be returned, let it be 1 time more than
the 72y (11 times the value)
b. answer: the case of selling an 5"y to a non-Jew is so rare, o’nan didn’t make a n7m
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31.1.2
3a (... v pr 53 pravIn oopom) 2 3b (R5pn 1125 7123 208D

2,2 mow IRIN Y NN DTRI HRIY? 7122 DN Y2 709 9132 92 Y W .
2,75 mow :NY1 1Y 109 12TH PPN K21 DN WY Y .
2, mow N DTN 7 M YR DD NY WY 21’12 0N 109 52 12vm .

7,25 X777 D7 NIDY 1N RYN YR YR IR WO RNV 922 PHNT 100 TUR TV YIRY XY DWTRI 21 IR YN RINY IR PN WIR WR .

I Analysis of dispute o'non/x™ (in Xn»1a brought above) if any of non-Jew’s ownership exempts from nm32
a  pnr /7 (not ywin 1) both positions are anchored in interpretation of v. 1 —131 9
i a7 o1 implies any ownership, M132 %3 “bumps it” to full ownership
ii ~ mi 7z 7121 implies full ownership; 71122 %5 “degrades it” to any ownership
b Or: all agree that 1132 implies a majority ownership; dispute if 93 raises it to full or lowers it to any stake
II  Discussion — how much ownership of a non-Jew exempts his Jewish partner from nm131?
a  N»7’7 even if the ear is owned by the non-Jew
i Challenge (279): why doesn’t the 1n3 tell him to “take the ear off and give the animal to me”?
b w7017 /7 any limb which, if missing, would render the animal a 1521
¢ ~27 any limb which, if missing, would render the animal a na»v
i Note: their disagreement is whether or not 7910 can live (811 — cannot; "1 — can live)
ii  In other words: they agree that the ownership must be in a vital organ
iii  9”7's students: perhaps n"1 doesn’t disagree; he is referring to the 1133, whereas 1M n" are referring to mother
1 Block (97): we require full 1122 owned by YR7%? due to 1132 53; require same for mother —12tn Japn %3 (v. 2)
d  Challenge (8”12 79): why is this ruling different than that of 0’991 (per v. 3) — even miscarriage which is 1131 is v17p?
i Answer: in that case, all the 7132 (such as it is) is owned by Y&w; here, "Pn” is mixed in with "omp”
e  jpnr /7 reported as having said that even if " owned a limb, the removal of which would constitute ">p Dn” — 1109
i And: he commented on 1:2 M2 - if ewe birthed goat-like kid or vice-versa — n1109;
1  However; if it had some similarities to mother — w11
2 jpnp /7 this is a »ap 0n and is therefore slaughtered as 19 by 12
ii w58 71 (who heard report): 1t comment is understood — supports 811 ’’s position, against X211 n™
1 However: his comment on 1:1 is unclear — n:y mma already states that if the mouth is like that of a 1tn — 7109
(a) Proposed response: there, it has similarities to animal that isn’t 171312 WyTp; here, both (ewe/goat) are wyTp
(b) Rejection: »:» ma — if it has one big eye or one small eye
(i) And:we learned that “big” is bovine; “small” is like goose (understood — goose has no n1121 nVITP)
(ii) Rather: it is because the animal is “odd” — it is a Dn
1. Rejection: in the case of the unmatched eyes, it is considered »1v (v. 4)
2. Support: R:t M1 considers all nnna »mm (including »11v) and adds if both eyes are small or
large (but matched) = with animal, it is the fact that they are unmatched which is the omn
3. Explanation: re: DR, we require I0R Y710 YR YR (v. 5) > same as other o2
a. Block: perhaps the “animal eyes” are due to mw, but we could explain matched eyes
(large or small) as due to its physical condition; but if unmatched, due to mw
III  Practical ruling (X19): convert whose (non-Jewish) brothers entrusted her with animals for fattening came to 811
a  Asking him: if she had to be concerned about giving n7132
b  Answer: no one is wwn for N’ *7’s opinion; co-ownership with a non-Jew certainly exempts
IV Story of Yn7 91 71 "1: he would grant rights to ear of 1191 when in utero, nonetheless treat it like 1131 (no work or shearing)
and give it to 103 — and, as a punishment, his animals would die!
a  Question: once he made "% 11p, why treat like 7132
b  Answerl: he was concerned that 0’15 might inadvertently shear or work it — wanted to formally desanctify 1122
¢ Answer2: he knew how to make a proper 11p; others watching him wouldn’t know and would do it improperly
i Question: why did his animals die?
ii  Answer: he removed them from n131 nVYTP;
1 Even though: X171 ruled that one may make a D on a 1131 while in utero
2 However: in that case, he only disqualifies them from narn; here, he totally removes nwy1p
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31.1.3
3b (28 mawn) 2> 4b (587 5v pr1pn 7709)
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I 2x mwn: o5 o are exempt (from n"oa)
a reason:\'p—
i if they exempted YR79”’s animals in desert
ii  then: certainly they exempt their own
b challenge: the "% and didn’t exempt the animals of Y87w; per v. 1 — their animals exempted them
i answerl (»7aN): read — if their animals exempted YR19?’s animals in desert, 1*p their animals are “self-exempted”
1 challenge (827): the text is “they exempted” (not “their animals”)
(a) furthermore: if so, NNV NN 32 of MY should be exempt (it is not, per ®k:2 mM1)
ii  answer2 (N27): the reference is DR 1179 — DM WIN) are exempt from jan 117719, using that same 17p
1  note: this explains why DR 7131 is exempt; why is n"0a 11779 exempt?
(a) answer: v. 2 juxtaposes DR 1179 with n"va 11779: anyone who is obligated in oTX 11778 is n"0a 11791 27N
iii  challenge (8790 77): to »aR and &1 »aR
1 »ax’: if a " didn’t own an animal in the 720, his own n”va shouldn’t be exempt
2 Na7 7ax’5. if a Y was younger than 30 days, he shouldn’t be exempt himself (he didn’t exempt a YR1)
3 N7 7ax5 a Y shouldn’t be exempt (her son should require 11779) (8”aR ruled that she is exempt)
(a) Answer (to last question): v. 2 indicates on1 708 > the mother’s identity will exempt
4 Ka7 »2ax5 1R (who wasn’t counted, per diacritical marks in v. 3) shouldn’t be able to exempt
(a) Answer (to all): v. 1 indicates n"5n — equating them all > if some are exempt, all are exempt
(b) Note: m1n3 are included per 9”1)7’s observation that o103 are called “nm%” (e.g. v. 4)
(c) Note: this is not just for that generation; rather for all generations, per v. 5 — 0”%n " vm
II  Question: how do we know that the n"va was redeemed with a nw in the desert (per X190 "1’s challenges)?
a  Answerl (8701 77): both nw and qo3 are mentioned for ny 17
i Justas: qua was also used then
ii ~ So too: "W was also used then
iii  Challenge: 903 has wider n»19-abilities; it is used to redeem w”yn and wTpn
b Answer2: v. 2 equates DR 1178 and n"va 179;
i Just as: we don’t distinguish between the one-time nTX 11712 in the desert and the permanent na%n
it~ Similarly: we don’t distinguish between n”va 1114 for generations (nw1) and that one-time 179 (127T03)
III Historical footnote (X710 *1): one lamb of the 0% wa able to exempt/redeem severral 11N »Mva of HYRIY
a  Proof (7an): the text (3 927n1) reckons the surplus of BTR »133, but not nnna
i Challenge: perhaps there was no surplus (either the same or fewer mnna »32 of Y871’ than 05 mnna)
1 Block: v. 6 indicates that non-n5 had great flocks and herds
ii ~ Nonetheless: perhaps the Y87w’ minna "1 were the same amount as D% MNNA Y01V
1 Answer: v. 1 uses singular (%0 nnni) redeeming plural — (onnna)
(a) Challenge: perhaps the singular is meant as collective (as per v. 7)
(b) Answer: then it should have been consistent; either nnna NN A or NN NNN MNNA
b Support (837): 7:X M1 — a "W may be used several times for n"oa 19
i Note: Ryin "1 was simply explaining the reasoning behind that ruling
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31.1.4
4b (12702 17123 077 N 127V 771 IPIPR) D 5b (1777 2592 1513 10vIY)
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TN IS

I 9"/mny 1 dispute if M1 were sanctified before entering »r
a 1. they were sanctified, per v.1
b 57w not sanctified- per v. 2
i challenge (515 »77): 2:» ©nar until 1own was established, nT1ay was done by m2a
1 response: they must have been sanctified earlier — 1-year olds are not fit for nTay
2 note: 3nY "1 brought this proof, reasoning that if M52 nwv1TP was n’t interrupted, they’d be nmay »a
(a) retort (579): those who were w17p originally retained nw1Tp; no new mMaa nwiTp introduced until »”R
ii  challenge (»715 577): (from p5Y 970) — on the day the 1own was raised, many nna1p including m2a were brought
1 implication: only on that day, but not afterwards in 927m
2 correction: means “from that day onward”; teaching that mamn were not brought at nna
iii  challenge (to 5”7): ®n»71 —in 3 places M2 were sanctified; x¥n (v. 1); 92 (v. 3) and when the entered »x (v. 2)
1 defense (»7277): means that in three locations we were warned concerning m 121 — but not sanctified
(a) challenge: they were sanctified in n»xn
(b) rather: in some of those places ("R ,01%n) they were sanctified; in others (127n) they weren’'t
(i) challenge (97): in the desert, there was also m™M31 w11'p, per v. 4, rather read dispute as follows:
¢ jpnv 1 they were sanctified in o%n and it continued from then on
d 571 they were sanctified, but then it was suspended until they arrived in »x
i Observation: 9™'s position is clear (v. 2); but how does 11ny "3 defend his position?
1 Answer (87): v. 5 — v "9 — remains permanent
2 Challenge: how does 13y 1 explain v. 2?
(a) Answer: he reads it homiletically, per »*127n — perform mm31 v17p in order to allow you to enter »&
e  Note: there was an inverted version of this read (571 "7), but it meant the same — ywTp X5 (jan 1) means that they
didn’t need a new sanctification — but he read it that way as 127 w51 9m% DR 27N
II  Questions posed by Roman officer of 1”2
a m1 wrvp. when counting each "% nnawn we arrive at 22,300; but when totalled — 22,000 even
i Answer: the 300 were mm31, who cannot exempt another 7131 as they exempt themselves
b o'npon 9o (vu. 6-11): clarification of different coinages used to resolve accounting
III  x¥an'v’s questions, posed to YHR "1
a  7mn 709 why is this the only nkno nnna that has 21 nwITP?
i Answer: it is Divine fiat; besides which they helped 1 leave Egypt with their goods
b orra7 what is the meaning of that name (location of first skirmish with pony)
i Answer: they weakened (nn1 197) from nnn, per v. 12
¢ pvw: what is the meaning of that name (location of sin with ma Yya)
i Answer: they engaged in nonsense and vanities (mow) —
ii ~ Tangent: two interpretations of oy> 1R7pm (v. 13) as seduction of arm nna
1 nsN 1. they came out naked
2 ywi 7. the men all became "p "Hya
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31.1.5
5b (3 mwp) D6b (12WIT WITH5 NINT N7 59)
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I 12 mwn: status of animals which bear young that look like another species
a  For purposes of 1122 nw17p. if a cow bears a donkey-looking animal or a jenny bears a horse-looking animal — 1108
i Reason: double mention of 1mn 9va (vv. 1, 2) = both mother and young must look like 71mn
b For permission to be eaten: if a "1nv nnna gives birth to a nkno-looking young — 1mn
i But:a nRnvo that births a 19nv-looking animal — oR
ii  Rule: that which comes out of a n7110 is 11nV; that which comes out of a NRNLV is RNV
I Analysis of our na%n waTn (MNN TV2: 70N V1) as against basis for N:2 — 17NV NP2 M2 must look like mother
a  However: if it has some similarity to mother it is 2’'n, based on I (ibid)
b 777 37 source is v. 3, 7132 must look like Mw etc.
i But: in our nwn, n"a was used for n19
it Answer: X1 follows 307, who maintains that the n1n established principle re: nam »wTp and applies to 2”112
1 Whereas: our ®in holds that it was taught in re o'nT nw1Tp and we apply it to narn nvyTp
¢ Our N7 uses v. 3 to teach that 1122 *1R are burnt and we justify each of 1w, was and 1y
i 7w couldn’t inform the others, as it has the largest n’>0)
ii  »3x couldn’t inform the others, as it has the fatted tail
iii 7 couldn’t inform the others, as it is used for nxron for "y
1 And: we couldn’t even infer one from two
2 7w couldn’t be inferred from 1 w1, as they (alone) are used for noa
3 wax couldn’t be inferred from M MW, as they (alone) are used for Max nrovn
4 . couldn’t be inferred from wam M, as they have great gifts to nam (Mmw »vy, fatted tail of w1d)
iv 27w if so, could just say 1 2w ;1w 7132 — the addition of M1 before each teaches that 1132 must look like ox
d 2777 uses vv. 1-2 to teach, in spite of v. 4, that only ©1n »05 — and no other NxNY NNNA — require 79
i And: second mention blocks possibility that other mxnv mnna have 119 — but don’t require nw
ii ~ Challenge (’snx 77): had it said n"va once, we would have reasoned it to be Tm5% 9551 11 8% 5931 PW 727,
1 Which would then: inform that all mRnY Mnna have nwa 11719;
2 Now: that it says n"va twice, the second one takes the nw away from other mxnv mnna — but still need 179
3 Answer: if so, let it say 1mn (alone) the second time — without "0a8”
4 Rather: the double mention of 11N 708 completely excludes other mxnv mnna
iii 7727 X217 learns exclusion of other animals from V91 %93 (v. 5)
1 2777 maintains that 9va breaks up semantic flow = no va1 5%
2 a7 the vy (nw) reconnects them
(a) 277 let it omit 108 and the v
(b) 227 it had to separate N1V NN M2 (910 NWITP) from NRNY NN M2 (DNT NVITP) — then to connect
them via the v
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III'  Question posed: expanding on “wrong birth”

a

If: a nma birthed a donkey-looking calf with some 7yn 10— 27N or not?
i background: the mwn rules that if a ewe births a goat-looking animal, exempt, but if there are some ©n'0 —27n
ii  lemmal: there, both 1y and Ym are nnv and have 711322 910 NWITP; here, 1 is 9un nwITP, the other -oMmMT 7109
iii lemma2: both N9 and MmN have 122 nwyTp = 27N
1 if: we accept lemma2, what if a 7mn birthed a horse-loooking foal (w/some n11°0)?
2 Lemmal: the other (horse) is not 171912 V1T 2709
3 Lemma2: they are both nxnv nnna >arn
(a) If: we accept lemma2, what if a a n7a birthed a horse-looking calf (w/some 79 »110)?
(b) Lemmal: 1 has qun nwrTp, the other has nothing > 108
(c) Lemma2: the fact that it looks a bit like a m19 is sufficient
(i) Proposed solution: Rn»11 — if a NkNL births a Nnv-looking young w/some 0?11m°0 — na»n
1. Assumption: doesn’t this mean our case — N9 birthing a horse-looking calf?
2. Rejection: it is a ma birthing a donkey-looking calf
(ii) Proposed solution: Rn»11 — if a cow births a 1nish calf, or a 9mn births a vivish foal — Mva
1. And: if it has some p’1°0 like the mother — 2»n
2. Assumption: this last clause applies to both
3. Rejection: only applies to the first case — n1a birthing a donkey-like calf (w/n”mn>0)
a.  Challenge: why introduce the 27 case at all? To exempt? This should be obvious:
i.  If: a cow birthing a donkey-looking young w/o mno is exempt
ii.  Then certainly: a donkey birthing a horse-looking foal w/o n’1n’v is exempt
b. Answer: the exemption was needed; ;unlike 1% case, where the mother has horns and split
hooves and the young has no horns and cloven hooves; here they are similar - 5"np

IV Analyzing 27 clause in mwn — permissibility of eating these “wrong” animals

a
b

C

Question: why did the rule need to be added (...xx1nw)
Answer: it is just a mnemonic — to focus on identity of mother, not young
Source: v. 6 implies that there is a nv1a V19m 13 NYYN that you may not eat — 19V born of ®NY
i Challenge: perhaps it is the opposite — 8nv whose mother is 1n1v? — and verse alludes to mother
ii  Response: identifying Ynx in verse = only Y13 is Rnv, not a Xnv born of a M MNY
1  Dissent: ™ - source is vv. 6-7; repeated mention of Y03 — whether it is born of a n%n3 or of a N9
2 1237 use 27 5n) to prohibit its milk
(a) wv”r prohibition of milk is from ">nn NR”
(i) 237 donot interpret the word nR (per story w/monyn pynw and y™ - v. 8)
Question: without Y03 (or Ymn nR), we would have permitted nknv 25n? Why not invoke oxrnon (v. 9)?
i Answer: R"10 that any milk is a wv1'1, as it is transformed nT = even NRNVT 25N is IMN - 5"np
ii.  Challenge: there is an opinion that it doesn’t come from transformed o7 — why the need for Ynin nxr/5n?
1 Answer: nnv7 29N is still a w170 — that it’s not ' 10 728 29" np
Challenge: what is purpose of n1)1R, 19v and Pt being repeated (X’ X1p» and 7 07127)?
i Answer: animals area repeated for nyyow; birds for nxy
ii  Challenge: perhaps that is the reason for Yn3 Yn3 as well — and not our nv17
1 Answer: wherever we can identify a more detailed nw11, we will

V  Investigation: source for permission to drink nmnv a%n

a

b

Proposal: since the nmn forbade n”aa >milk must be 1mn

i Rejection: perhaps o'R is extension to nXkin (and, v"% — for Y1v72)
Proposal: v. 10 prohibits 259N of n”moa 215n of PN is permitted

i Rejection: perhaps that is just a nRIn IN’N (re: "MV — NRIN2 NOR as well)
Proposal: v. 11 lauds selling 25n

i Rejection: perhaps that is only for doing business, not for drinking
rather: v. 12 describes 717 as bringing cheese to his brothers at the front

i Rejection: perhaps that was also for business

ii  Block: people don’t conduct business at the front

alternatively: v. 13 —»R is lauded as waTy 25n nar yax; wouldn’t be praised for producing Nor
alternatively: v. 14 directs people to go eat...wine and milk!
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31.1.6
6b (ry pp A750w 5117 7717) 2 7b (82257 82211 ON)

7, 1270202 DY) T77 NYR P0PD D7D NRY DA YY PR DNT NR DN UTH 1790 K 1P 7922 IR 2P 7992 IR 999 9902 I8 .
7,47 ¥777:029 RIN RNV 0190 31PR DD RIN N7 2PN 2 H0In DR NPI9D 919N/ 7730 290N 19IRN KY np Ny a8 .
7,7 0727:DTY DY) DAVI DY NY 19IRNA YR NRNAN DRT .

N2, 8777 PIRD DY 102 MY 12319 YYRn 0Y72 19 KD YR YIIR Y 1200 QPN PIY 9N 19IRA 1Y DR R .

I Rn»2: if a ewe births a goat-like kid or vice-versa — n1109; if it has some similarities to the mother
a  p’m if it has some similarities to the mother — na»n
b "1 head and majority of body must be similar to mother
i Question: does w" have the same requirement for permissibility of eating?
1 Lemmal: re: M3, we have v. 1 which raises requrement of similarity, but v. 2 only prohibits “pure” 9n3
2 Lemma2: the requirements are the same
ii  proposed solution: kn»7a (which must be w™) — if a nnY NnNa births a nknv-looking animal, n%7281 MoK
1 but if: head and majority of body look like mother — 771321 270
2 evidently: v is satisfied with 12171 ywR for n%OR as well
3 rejection: he only reckons that for n71211 2vn
(a) support: in the Rov, he “abandoned” n%5R MR and mentioned N2 21N
(b) rejection: he also allows for it N928; he mentioned N1 due to v. 1 — ®™10 it must be fully o> —5"np
iii  proposed solution: Xn»11 — dispute »"1/8™ re permissibility of eating hybrid of nmnv and rnv
1 »7: only if both are 700 (per v. 3), even if it looks somewhat &nv (only 1 jn'0) — per v. 2
2 N7 the text is coming to extend permission — even if father is xno
(a) note; they refer to the young as xnv (like w™) but permit eating (proof that his standard is relaxed)
(b) rejection: they agree with him about definition but are more lenient about permissibility of eating
3 note: some read this Xn»71 and challenge from 5”11 — mixes (including 8nv/nMnY) can’t breed
(a) defense: referent is calf with cloven hooves, per v
(i) note: if so, we see that w1 allows them to be eaten
(ii) defense: this Rin agrees with him about definition, more liberal re: eating
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31.1.7
7b (22 mawn) 2 9a (91w 175 2521
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31.1.8
9a (1 7awp) 2 100 (o102 orwn)
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31.1.9
10b (rmr795 7371 85 208) 2 110 O8NP 1797 Pm73)
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31.1.10
12a (7 nawn) 2 13a (7197 D1D)
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Introduction to 1m1g 121y MM — v g

as we will learn at the beginning of this 719, we have now “dispensed” with the laws of n”vo and are moving on the laws of A1V 7072 1123, which
will occupy most of the rest of the noop. The unusual ordering of the 3wp—placing n"vo first —is addressed in the first X210

31.2.1
13a (8 mawp) 2 13b (851722711273 20257 85 17N7T)

II

I

2,2 72703 YT VDY Y NNND TY DTRN HRIYA 1932 92 Y IMYTPN DN PIRI 1152 93 'NdN 0P 12 92 Y D .
m,72 4777 17792 11 NTIN RY PNRI WR HRIY? 212 DINRD ITIYN DN DYYY MNR NYI? D INR D2711Y DNR DRYNINM .
7,75 8777 VIR DR WIR WA OR 4000 TN NI IR 000RY 1200 11900 09 .

§2,72 87775030 q0IN INYRY 1Y 1709 DY NiaT TIY DR .

R mwn: exclusivity of nnv nnNa 7121 to "HRIW’ ownership
a if: any of the five “shared” relationships from X:X obtain with non-Jew — exempt
b however: unlike n"va, B33 and ©MY’s animals are 0227’n — they are only exempted from o7& 7132 and 10N 700
General query — why are the laws of n"va presented first?
a  justification: NNV NN M1 carries “essential NWVITR” (930 NWVITP); N9 only “value NWVITR” (DNT NVIT)
b answerl (from »’x): the Rin “loves” the rule of n"va per X1 "7’s homily above (re: why donkeys were singled out)
¢ answer2 (from »’K): the rules of n"va are few, R*win NTY 7 wanted to “take care of it quickly” and move on
RN of RYWIR 1 (quoted by 9) regarding buying/selling n71nv nnna from/to non-Jew
a 1If: a YRIW gives a non-Jew money for one of his animals and it births (7132) before he takes possession (n2'wn) — 27N
b and if: anon-Jew gives YR1v’ money and the bought animal births (1132) before he takes possession (n27wn) — 1109
i note: both clauses used the phrase “gave money nn»71”
ii  clarification: of the term pnoyT2
1 cannot mean: inferred via v'p (“17” used as “inference”); from their physical selves
(a) if: we can buy them with money (as "y 72y — v. 2)
(b) then: certainly we can buy their property with money
(i) block: if so, we should be able to buy their property with nprm 90V, as is the rule for 3 Pap
(ii) and: 5R7v7’s ability to buy YR (»"p) with qo3, yet not his possessions (require n2'wn) defeats it
2 »ax means — the rules established for their commerce by the nMn (11" meaning “rules”)
(a) per:v.2—nywn ("rn” - given from hand to hand) only applies to Ty (fellows) — for non-Jews, qo2
(i) suggestion: perhaps n>wn is valid for Jny and no 13p is valid for non-Jews?
1. rejection: v"p — if we can buy them, we can certainly buy from them
(ii) suggestion: perhaps n>wn alone is sufficient for YX7w’; non-Jews require both n2»wn and 9va?
1. rejection: v"p — if we can buy them with one 13p, we certainly don’t need two to buy onnn
(iii) suggestion: perhaps n2wn only for YX7w’; non-Jews can use either n3>wn or qoa?
1. rejection: just as J>ny has one 11p, non-Tn>ny has only one (9v3)
3 note: parallel analysis to 2" clause — but suggested 1"p in first phase is based on " ap of HYxr W (v. 4)
c  tangent: squaring the above with 9°nR’s approach — " has valid 1p (only) through n>wn
i if he holds like 3Ny 7 — n"nn, qo3 is the valid yap, then TrPny limits qo3 to YRIw?, M has na*wn
ii  but if: he holds like 9™, that n2*wn is the essential 3p in the N7 — why does it state Tmy? who's excluded?
1 answer: it excludes » from nNRMR (no need to return it to him)
2 challenge: that is excluded from end of v. 3
3 defense: we require two exclusionary phrases — one for ", other for v1pn
(a) justification: if we only had one, we would have assigned it to wTpn
challenge: this is only valid if we hold » n»m is forbidden — must teach that » nxnR is not
(a) but if: we hold »» n»m is permitted — then certainly no need to return nxnx (and no oo needed)
iii  conclusion: MNR must agree with 13Ny "1 that n”nn, Mnp myn > NYY excludes " from “n1n PIp” — only nywn

'S

www.dafyomiyicc.org 11 © Yitzchak Etshalom 2011




TDID TMYRI0T YR ORI n1M02 Noon WY AT TINHH My BT

d revisiting N?WIN 7's Ku’p: challenge — n:) v Xnavin — if one buys shards from »3 and finds 1"y in them
i if he took them (7wn) before paying — he may return (go back on deal)
ii  but if: he took them after paying — all 1"y value in them goes to nonn o’ (and is disposed of)
1 however: if mnp myn (as per RYWIR 1), why does n3wn play a role here at all?
2 answer: case where non-Jew stipulated that the transaction will follow Y& 2377
3 challenge: if so, why do the myn play a role?
(a) answer: read — even if he gave the money, only if he took possession is it a done deal
(b) challenge: if so, first clause is difficult - why may he return them?
(1) answerl (»an): in first case, there was a myv npn -> it reverts
1. challenge (¥27): there was a myv npn in both cases
(ii) answer2 (827): in both cases — myv npn;
1. however: in first case, since he didn’t hand over any money, it doesn’t have the appearance of a
transaction involving 1"y;
2. whereas: in 2" case, since he handed over money;, it looks as if he is transacting with 1"y
a. (note: according to X127, in neither case is there an essential problem; only pyn n>xan)
3. 7ax. could answer that in the 274 case, there is no myv npn
a. argument: since he paid, he should have looked it over first
(iii) answer3 (»wx 77): in both cases, n3*wn is not essential to Pip
1. in first case: there was no n2'wn, all that matters is the myn
a. therefore: for parallel construction, the Xin mentioned n2*wn in 2n clause
(iv) answer4 (x82237): in 2n clause, n2*wn is a valid Pap (per MR or because he agrees to YR 1177)
1. therefore: in the 1t clause, too, n2*wn is Nnp (but he hadn’t yet taken possession)
2. question: if so, what is the n7tn mentioned there? If there wasn’t yet n2>wn, from what is he ann?
a. answer: 11N from his oral commitment
i.  note: this is only valid if we hold B127 n7tn is NINR 70NN (i.e. one’s oral commitment
is meaningful and reneging on it carries ramifications)
ii. yet: this only applies to 987w, who are trustworthy, not to oy
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31.2.2; 14a (2 mwn) 2 15a (mnprdnpr w1 7927 1)
note: since our 83 will only address 2 13wp, we will leave the outline of 1 wp for the next 1w (p. 13)

N,p 02727 :RID PIOR N NAYIN 09 Y7 12T Y9 DIN 12 Y YR NVY WY PR 1Y NN RY .

25,325 47770 NATAN DY DN 10N KY DYR) ‘N2 NPR 120 KY N9D? IR 273 IR NP2 IR PIIN IR MY IR DY .
&2, 227:PTIPR 'N2 NN KD Y7 DIN YD Y IR NP DIN 12 MY I

25,15 X771 98P KD YR MDY ININMY RIN 19D) 1N 00D DRY NP X9 Y19 230 P2 P RY .

2,19 877 U TP MDY INPNDI RIN 72D NNNIL NN N2 1NN DRY 2502 Y7 IR Y72 250 INR 02 K9 N KY .
19,22 0272737 TN YR DIPHAN DR DRI RYD PITN 72 P IR PYTR 71 -

vt

LN N

I 2 mwn: status of animals that were sanctified after getting a permanent i and then redeemed from v7pn
a afterpr1o: are just like pown;
i 1720 7132 are 21N in M52 and Mann must be taken;
1 note: this is only true if they were redeemed - our Rin holds that o'n7 nwyTp deflects 2”ym N2
ii  s7mayr arr may be used for work and sheared;
1  note: only after 119 = supports 8" who holds that 2”11 >wTp have prohibitions of nmay nr
(a) rejection: even 1127 might agree with nam?% on7 w7y (originally intended for nam) — nn due to onn
iii  o22bm mrom: offspring and milk may be used;
1 offspring: became pregnant before 1174 (else, it’s obvious) and birthed after - without 179, would be 7ox
(a) question: would those offspring be accessible to 179 without a Dn?
(i) As79x if someone dedicates a n”pa to the nam, its offspring are redeemed as o'nnn
1. reason: there’s no 10 NVITP
a. amd: the Yav (offspring) should not be more sanctified than the 9’y (mother)
(if) inference: in that case, he dedicated them for nar; but if he dedicates it Y175 nam? —has »mp
1. supporting: R23, who contends that narnb onT nwYTP W1PRN has »MTp
iv  pmn oo if one slaughters it outside — exempt;
1 ~7:read "2»n” and set the circumstance as T'm’ nna
(a) per: his ruling that if one slaughters a on 5ya at 7n> nn3, he is 2»’n (for violation of v. 1)
(i) argument: v.2 already covers Max nna >v. 1 must be about Tn’ nna
1. counter: perhaps v. 1 is about M1 (has nv1Tp as n”pa, R™o it should be brought as well-%"np)
a. block: v. 3 covers oin 9p1 112
2. counter: perhaps v. 1 is about nnna qwyn (has NW1TP even as N”pa, R™0 is brought as well- 5"np)
a. block: the w1 of Mayn::n1aYn (2”n::131) already covers n”ya 1”yn
3. counter: perhaps v. 1 is about nmnn
a. justification: since it has nwYTp as n"pa — per v. 5 — it should be offered — %"np
b. block: v. 4 establishes wmp (source)::nmmn->just as “source” isn’t offered n"»a, so NN
4. counter (N7r ”7): perhaps v. 1 is about mwTp MToM
a. justification: WP MTON are V1Tp as n"va - by virtue of mother, should be offered — 5"np
b.  block (¥27): per »"121n — v. 5 compares m7nn and M9 to 01T >n"va aren’t brought
v 7715 and they cannot generate nmnn
1 source: v. 5 (1% clause is obvious) = only one which was originally 210 (n’nn) can make nnn
vi 1 px: if they die, they may still be redeemed
1 27 this is only according to w™, who holds that 2”n2 >w1p don’t require naym nyn (>even if dead —1197)
(a) and: v™ agrees that a n”pa from before wTpn can be redeemed even if it died (x:1 nmnn)
(i) reason: pyoa requiring N2IM NTAYN uses NMIR — excluding y1p’yn on Hya
(i) dissent: % 727 RIN says that even X1pyn 0N Hya (even m 9y [and MR is a challenge])
1. if s0: 1127 who disagree with v (x:1 nmnn) should agree that y1p’yn on Hya is n1o)
a. and: 11 should have assigned this nwn to “ny5nm w™” (against "5 »a7 Ran)
b. answerl: 21 holds like ™ - 13127 hold that nam »wTp don’t require n31ym nTMAYN
i.  and: that doesn’t fit our mwn, as in » mwn (below) — 172p* — 1NN DR
ii. challenge: perhaps they have to be buried to avoid letting dogs eat them
iii. answer: if so, should have stated — N9V WY1 DX...
c. answer2: 27 assigned the mwn to "np,onm v"™”
2 exception: 1131 and Nnna wyYn have inherent nwyTp and the prior o doesn’t obstruct that
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31.2.3
15a (yw1p7 07p 538 [ mwn)) 2> 16a (71703 18 9N)

23,2 2727:329R9 YIN? 1NYDT RPVD NZIRA 12 RN NRY22$D NR LR TURI IR

22,00 0727 :0702 NIAVN PIRD YY YIRD KD DT DR 77 .

7,7 477 :TPRYR NPIRD WOID NNTHIN N2 NYR NIAN 272 TR NN 10 21 YR 530 .

10,2 07727:9782) 728D NZINRS NNYDY ROVD PIWY 922 77 103 TR PIYR ‘N N712 1Y NN NIAH TUN MR 521 7 .

N, 477737 2199 NP NN NP DR 997 DR 1IN RID IR0 10 DR 1127P DNYY N1 DR) .

27,0 pr727 $2IRDY 2AXD VTN INVD) RNYD NYIRM PYY3a .

19,15 47771830 'NY DY DR MY DR INR WR WTR? XD 1nN22 'nY 122 YR 1102 X .

7,07 47772029 RIN RNV D190 NPR NDIYI RIN 172 NPPN 22 HNIN NR 1PN 2D190M NN *9PPN 1IRN XY NI N8 X .

SN N N T

I 2 mwn: status of animals that were unblemished (or had 1219 mn) before wTpn, then got »12p D1n and were redeemed
a even after pr7o: still pwTPI (DN HY2)
i manp 77153 are M4 from 151 and NN are not taken;
1 source: v.1-Rn»31- n”moa are compared to »ax (no N131) and to X (no mann)
(a) challenge: the fats of &) »ax are permitted — shall we permit n”moa avyn?
(b) defense: Ix (v. 1) distinguishes between &y »ax and n”moa (for n»avn)
2 analysis of ¥r17272: first we only exclude nma ("ax”) as it only applies to males; then mann, apply to both
3 challenge (785 97): just as 2R 7ax are not limited by 11 nXy 1My, perhaps n”moa as well?
(a) answer: n”"Mvoa have to be either PN or LwIp: if PYIN — 2"R applies; if DV — 2" applies
(b) challenge: then why didn’t the Xn»1 use that argument to defend 25n MoR?
(i) rather: just as they used & to defend a9n MR, we should use & toi defend 2”8
(c) answer (¥37): 18 defends 2"R; 29N comes from v. 2; T must refer to 29N, as *ax 07 is also MOR (RVWVY)
(i) challenge: why doesn’t the N7 n state 1250 (v. 2) instead of masking it as m7?
(ii) answer (¥37): had it done so, we would have had wp’n (&1 ax::n”mog) and "aon”
1. @’ excludes n13 from n”moa a5n, removing it from the domain of v. 3
2. #77. makes it a 1Y (w/o m12)
a. therefore: it used "n1” — to maintain n73 for n”moa avn
3. challenge: the Xn»12 mentioned "R” specifically as a defense for a9n
4. answer: he meant that if we didn’t have "1n7”, 9% would have sufficed; now R is for "R
it /A7mayr Arx may not be used for work nor sheared;
1 source: Rn»11 - v. 4 — narn allows for slaughtering, not shearing; 9wa allows for its meat, not its milk; nYory —
you may eat it, not your animals = we may not redeem n”mva to feed to dogs
2 alternate version: v. 4 — only 9nn for use is after we’ve slaughtered it (but we may redeem B7255% 9728nY)
iii  o2abm m7om: offspring and milk may not be used;
1  circumstance: must be conceived before 1979 (else, it's »ax¥ 79m) and born after =if born before 1774 - w1p
(a) source: X1 - v. 5:991 = T9n and napa = nMM; 791 DR and nap1 DR extend to 791 and NN of N”ya
2 question posed: how should m%T of n”moa born after 1179 be treated
(a) clarification: there is a dispute re: n”moa m19on born before 178 — either 19’ *w7p or NPYIY WP
(b) answer (8171 7): they are locked up and starved to death
(i) reason: we can’t offer them, as they come from “rejected nw11p”; we can’t redeem them, as their
nwITP isn’t strong enough to generate 1179
(c) answer (827211 77): just before they’re redeemed, we designate them for same j17p (as mother)
(i) challenge: they aren’t redeemed!
(ii) rather: just before the mother is to be redeemed, we designate etc.
1. reason (715): so that he doesn’t create flocks of them (->lead to npn; e.g shearing)
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(iii) question (®v”7p 8227): may he designate for another j27p (other than the mother’s)?
1. answer: may not — per 7wV (vv. 4, 6) -like 7133, may not designate for another 129 (v. 7)
2. support: Rn»»12 parallel to our mwn, adding that, re: *w1p that had a prior o, the exemption of
mnm 1M1 and the permission to shear and work apply even before 1179, that n%yn does ap-
ply before 1179 (only), the offspring, which are %n, can be designated for any type of 129p and
can be redeemed without a b
a. general rule: all there is is "%y nn¥n (treat them with quasi-nwyTp)
i.  note: this “rule” was mentioned to allude to yIn NYNY 2> VS
3. but: if the (»12p) DN came afterwards, (same as mwn), the offspring are w1p = cannot be re-
deemed w/o min and may not be designated for any j21p that he wants
a. general rule: they are wTp, all that is different is the permission to eat them (as 1)
i.  note: this “rule” was mentioned to allude to include a%n (that n”moa abn is Now)
4. observation: this Rn»71 seems to challenge &0 "7 (above) > may be redeemed as n”ya and may
be offered (not as “any 127p he wants) 2 as the original one
a. defense: parallel construction; nnn and n¥w nar %35 (in Xw* — both permitted)
iv  pmnovinw: if one slaughters it outside — n13 2n;
1 A1/ 77 read 27N (as is our version; or this is a comment on 8n»11) — and associated with “light mn” per ™
(a) »”r who holds that that type of oin has a rule of y177 8% 19 o 2»n for yin »01NY
v 7w and they can generate nnn
1 comment from Xr»»13: before or after 1179, generates N nn
(a) max 13 737 nnn after 17a dies
(i) cannot: be offered (comes from “rejected nw11p”); cannot be redeemed ("W1TH not “strong” enough)
(ii) challenge (o9Y *7): why can’t it be eaten — as n”ya — by owners, just like 2”ym 7132 nN? (n:3 1nN)
1. answer (722K): each is called after its “mother” (source)
a. 7wymr 123 nmwr is considered like 9wyny M1, which are eaten by owners jnna
b. w17 1w are considered nwTp, which may not be eaten nmna (as 0'w1p)
2. support for ruling: Rn»2: v. 8 - even some that are N7 nYyn are forbidden — n”moa nnn
a. challenge: v. 8 is used (with that Midrashic syntax) to allude to mnn mxon wnn
b. answer: that is gotten from 27 clause ®nv...nv790 YoM
i.  support: Rr1 infers mnn MRVN YNN from ...70MaNM
ii. challenge: mnn mron wnn are considered n"n%n — no textual source
iii. defense: ..)0790m is used for My MNWR wnn (parallel to mxrovn wnn)
iv. challenge: that is also n”n>n —nnn NRON::NPYIT DVR
v. rather: it does allude to mnn mxrvn v
vi. justification: if we only had the p1os, we would have consigned to n»»
vii. and: if we only had &n>%n, we wouldn’t have considered the violation of eating from
these mxon to be a full 1RY, just "RnYP1 RNDR”, PID > IRY

viii. alternate justification: compares that alluded to from ...n7an *>ynn to that hinted to in
...NDI9N Y090

ix. justas: mron wnn must die
X. S0 too: n"moa nnn must die
vi 1 px: if they die, they must be buried
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31.2.4

16a (7 mwp) 2 17a (1177 manws K5 )

note: our first 13wn here uses the phrase 5r13 jN¥ (27%); it refers to an arrangement whereby the owner of animals gives them to a herdsman
at an agreed-upon value and after, say, 10 years, that value is returned — and the offspring are included

92703707 NP M2 NYR PVPH DIZN DRI NAMD YY PN DAT DR DN YTP 1790 R 1P 7932 IR 29D 7932 IR 999 9902 98 .
5,45 3r8 :DRDD? 'V2D 1IN VRYD M09 RY DR .
10,7 72702 :3901) NV TAND NYY HY 'NY NRYNY THYR DY YV .

N,27 07727 IYIT? DIRYHY IPY TIVYY WaIN KY .

2,35 pr727:72 NPIN TYR INIDI NINID PAIR HY ¥7 NYYR DY) .

0,2 4777 DRV TIA2 IR INY TAA2 NPIX YA 12 Y 02 Tam .

79,45 X777 :1092 B 927 TION NAT NNINI NP 'NY NYR 2pnY YIP ORIPN DOR IRIPN TYR /N OTYID AR .

L T N P N

I 7 mwn:if a Jew accepts a non-Jew’s flock as 2”¢
a  then: the offspring are exempt from N33, but not the next generation
i implication: 2”% is considered the property of the (original) owner, since he didn’t yet get paid
ii  challenge: X111 — we may not accept 2”% from Jew as the payment of young is considered n»an (=in Yapn mwn)
1 answerl (»a8): our mwn is a case where owner accepted loss and depreciation; 8n»» 1 — where he didn’t
(a) challenge (827): if he accepts depreciation and loss, this isn’t considered 5112 1x¥
(i) furthermore: why interpret two different agreements to same wording?
(ii) furthermore: mwn should have specified — this is only true if he accepted...
2 answer2 (N27): both cases are “normal” 2”¥; but in our case, since non-Jew has rights to collect from young
(a) therefore: since " 1 is in the “middle” — exempt from N2
b if he put the offspring in lieu of the original animals (for collection), one more generation is exempt
i dispute 71 "vamm 27 in first case (without “in lieu”) - which generation is 2n (0=2"%; 1 — offspring etc.)
1 w1737 1isexempt, 2is 27n
2 jmir a7 2is also exempt, 3 is 27N
(a) Challenge: only if he put #1 in lieu of #0 does exemption o to #2->else, #2 is 27n
(i) Defense: in any case, #2 is exempt; “in lieu” teaches that even in that case, where the non-Jew may
take the offspring, only #2 is exempt, not #3
(b) Challenge: »"av1 (below) using “10”
(i) Ami 375 it works — he claims that p"n uses exact generations - that’s why 3"aw1 uses a number
(ii) A2777 375 who feels p"n is inexact, why would 3"2w1 use exact numbers?
1. Answer: 3"2v1 is responding to “in lieu”, where p”n used exact numbers of generations
(c) Challenge: Xm2 - if one receives 2”% from », offspring are exempt, their offspring are 2n
(i) Answer (for 771777 37): read “they and offspring” (1109) and “their offspring’s offspring” (27n)
(d) Altnerate version: P03 11PMITON YTHN, PPN MTN M9 TN
(i) Answer (for 1777 27): read PMoa MTHM 10, but Parn MmN 1N
c dissent; 3"2w1 - exempt “until 10 generations” (forever), as the owner may seize any of them
II  nmwn:if a ewe birthed something looking like a goat — or vice-versa — exempt from 0131
a  however: if it had some similarity to the mother — 1712121 na»n
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I xywIR "1’s Rn12 — (which he brought from »R); if a ewe bore a goat or vice-versa, n* finds 2n; onon exempt
a  Analysis: n271 was told to ask 810 19 what is the 2vn that n™ asssses here —
Cannot be: "33, as he surely accepts v. 1, requiring 7131 to look like mother
Cannot be: 1an WK, as, per v. 2, if the wool is hard (sheep with goat-like wool) — 1108
Answer: must be whether we are concerned with father’s identity (and father is a goat) and if 2% MR W

i
ii
iii

iv

1

Challenge: if so, let them align with 1327/n°213n (whether 2" applies to father)

Rather: they are disagreeing about n1152

1

Case: lamb, mother was a ewe but mother’s mother was a goat

(a) »7r. follow mother — 17131 looks like mother 2>arn

(b) o1 follow mother’s mother — n131 doesn’t look like “grandmother” >4
Or case: lamb, mother was goat, her mother was ewe

(a) »”r “lambness” has been restored = 17n

(b) o’wom: “lambness” has not been restored > exempt

WK /7. the case is where the 7121 has some similarity to mother

(a) And:"onon”here is v™, who requries 12171 YWR" to be similar for n7132 2N

b  Caveats: areas where n™ requires pure " lamb or goat
a7 “1. goat of n” must be “pure” — per "mr” (v. 3)

i

ii

iii

iv

1

Challenge: this is inferred from "1y” in v. 4 — which excludes nnT
(a) Defense: v. 4 alone would have applied only when earlier generations didn’t look like index
(b) And:v.3 alone would have only excluded nnm from nan 127p; v. 4 extends to namn 1M

37y 72 80K 77 all agree that there are no man for wearing a mix of flax and this one’s wool

1

source: v. 5 — just as »nwa is consistent, so too 1% must be the same as its mother’s

~99 1. all agree that the nnm’s wool is 9108 for non

1

Source: v. 5 is juxtaposed to v. 6 — MOR of VYW tied to nYon mxn

7ny2 73 ppny 7. all agree that the nnT1’s wool isn’t vulnerable to T2 'p3 nrMO

1

Source: v. 7 compares 1nx:0NVY; as above

'wN “7 (attempted extension): if he put a vine over a fig tree, the wine from that vine is 0017 %108

1

Source: v. 8 compares 0’301 to nar; just as a nar must be “unchanged” (from mother, as above)

(a) So too: the o501 must be unchanged

Challenge (82227): if so, why not say that if he moved the flax to grow over a thorny bush - that’s a 1w and
it’s no longer “nwa”; and therefore, the premise that n'nwa never changes is lost?

Defense (»wx *7): in the case of the vine, the smell of the grapes changed; the thornbush doesn’t affect the
smell of the flax
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31.2.5
17a (r mwp) = 18b (77877 159 117200 MIXINAY)

2,0 mov Y02 BN T2 M2 IR 1NN VY 109 2112 DN W9 K3 maym
vr,m2 &7 JTPIIND NIORYN 5D D1DYN 9P N TN a1 Yhn 2

I 1 mwn: simultaneous M 32
a  If: aewe had her first birth and two males came out simultaneously
i 2777 both go to 1na, per v. 1 (»21)
ii  p’pom: only one goes to 113, as both could not have been born at exactly the same moment (D¥n¥5 R"X)
1 v”1 the 1 picks the better one
(a) Reason: he assumes the healthier one came out first (Xn3)
2 y”romra panwvn and the other grazes until it gets a on
(a) 20w Ny 1 - meaning, the 102 gets weaker one
(i) Challenge (8ax 72 871 77): Mwn states DN’ PINVN (we assume — they assess value and divide it)
(ii) Answer: see from R0 (below) — ¥”1 says n”ynn — 113 must prove which is 7132
1. Therefore: here, the ")mw” (fat — difference between bigger and smaller) is “between them”
3 Then: when slaughtered, mnn must be given to jn2
(a) Dissent: 7ov "1 — exempt from mann
(i) Analysis: n™ holds 27n, since |03 can argue “qwa1 NpN” — if 1123, he gets all; if not — gets mann
(ii) or 1. (R17) — we consider it as if jn3 got it and sold it (for 7131 he received) — no mnn
(b) ~77: “all agree” (meaning *ov ") that if 1192 pavo, without "p9’9n”in 1n3’s hand, is mnna a»n
(i) Challenge: this is obvious; only reason »ov " exempted here is due to 172 12 Pa¥on
(if) Defense: we might have thought to exempt, so as to prevent anyone from shearing/working— 9"np
1. Challenge: vov "1 explicitly exempted (contra n™) due to 1013 71 varon
2. Defense: that may have been his response to n™, but he was concerned about nmay n —5np
(c) tangent (97): “all” agree that a Ywyn pav is exempt from mann
(i) “all”: must mean n"
1. challenge: this is obvious, as n”1 obligates in 7191 pav because either way the jn3 has a claim
a. which: doesn’t apply to 7wyn pav
b. defense: perhaps n”1 would obligate here nonetheless, mnn nin nanwn &YW — 5"np
i.  challenge: how could we think this? »ov "7 ruled (xn>12) that if 103 772 vor'on — Ny,
and that is where n™ dissents and obligates = his 21n is due to 103 7, not nanwn 85w
ii. answer: perhaps n”1 obligates even in 1wyn pav, and we learn about 7132 pav to show
extent of Y01 ’7’s position: even when 112 has “either way” claim, he exempts — %"np
iii  If: one of them died
1 v they divide the (value of) the other
(a) Challenge: why divide (according to v™); if fat one died, that was 1n12’s (gets nothing); if other died, he
gets 100% of fat one
(b) Answer: v changed his mind and agreed with ™ (in xRw)
2 y”1r we employ the rule of n”ynn > the 13 gets nothing
(a) Analysis: ®n "1 compared v™'s ruling to 2 people who entrusted their sheep (1 each) with a shepherd
and one died — the na5n is that the shepherd leaves the live one and they fight over it
(i) And:y™'s ruling is like one who entrusted his lamb to 12”ny3; it got mixed up with his own lamb
and one died — 781 YYY 11ann RN (3"1va gets to keep the live lamb)
(b) Question: what's their disagreement? Each of v and y™ surely agrees to the na%n in each of these cases
(i) Answer (83701 97): case where 13n belongs to 2”nya and his shepherd is a 173 (gets all his mm13)
1. v”r the 2”nya is nipn some of his 7xn to 103 AY1 (for him to be NMp the NM131) to enable Mmxn
a. Therefore: it is similar to two people entrusting their sheep to ny11 (equal claims) —p9m?
2. p”7. 2"nya does not mipn anything to ny1 (has loss) = similar to entrusting to 2”nya — n"ynn
b If: the ewe had a male and female simultaneously — the 105 gets nothing
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I Analysis of onon/"n»
a  ’N» 77237 we see that 3”01 maintains that natural occurences can be simultaneous (Dnw *1°2 DXNXY TWAR)
i And: certainly if intended (DR »11 D¥NXY TWAR)
ii ~ We see: that mnon reject simultaneity as a natural occurrence
iii Question: what is position of D’nan on deliberate simultaeity (20TR 172 DXNXY TVaAR)

1

Proposed proof: the X1p>on vIn circumscribed nam to distinguish between ©2v%Y% nnnn onT
(a) Rejection: perhaps they thickened it to ensure that “up” was above halfway mark etc.
Proposed proof: size of 093 and nam
(a) Rejection: 'n commanded they be built — as exactly as possible, per v. 2
Proposed proof (83775 27): X112 - if RNV ©IN MmN is broken exactly in half — both ®nv, as Den¥Y XK
(a) Rejection (82775 37): ©IN *93 has jagged edges and pits, making exactitude nearly impossible
Proposed proof: 8™ rules that if a murder victim is found to be exactly between 2 cities — both bring n%y
(a) Assumption: 8" holds that DR »12 D¥NXY TWar and ”N11IP” means even "M1IP”
(b) Rejection: he favors 3n"7’s opinion — even Dnw *1a1 we say D¥NXY TWAR
Suggestion: the issue of DTR »11 D¥NXY VAR is subject to BRIN NPIYNN
(a) If: annis found exactly between two towns, nnon — don’t bring at all; k™ — each brings n%y
(i) Assumption: DN — DXNXY R’R; R™ — DXNXY TVAR
(if) Rejection: if mnan hold nxnxY X8, let both towns bring one Ny together and make a *}in
(b) Rather: both of these positions accept n¥nxy qwar and disagree if "n217p” could mean "marp”
Resolution: oman (in above case) say the 2 towns bring one n%y together and make a »Rin
(a) Reason: they hold pR »11 »ar nx¥nxY R"R (if they held nayp but not marp — bring none)
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31.2.6
18b (r mwn) 2 19b (197 DI7D)

2,2 mpw:RIN YD NN DRI YRIY? 2112 0N 52 709 9102 52 Y UTR .1
7,10 0227 IRY 7132 TN KDY 71V 1522 TAYN KD PiiOR NP WITRR 910 TIRYD 7122 THY WK 1020 HI 2

2, mow Y0 DD T2 W TYR NHN Y 199 571 'Y DY 108 93 NIIWM 3

I 1 mwn: multiple mYn1 and multiple first-births
a  If: he had 2 mbm that hadn’t yet “opened their womb”
i If: each birthed a 151 — both go to 1n2
ii  But if: one was male and the other female — only male goes to 1n2
iii And if: there were 2 males and one female — one male goes to 13
1 v the 10> picks the better one
2y DI PInwn
3 And: the other grazes until it gets a o
4 Then: when slaughtered, minn must be given to 112
(a) Dissent: 7ov "1 — exempt from nnn
5 If: one of them died
(a) v”r they divide the (value of) the other
(b) »”r we employ the rule of n"ynn > the jn3 gets nothing
I n mwn: continued presentation of rulings with multiple m>n7 and multiple births
a  If: he had one Ym1 that had never given birth and one that had
i if both had males, but we don’t know which — one goes to jn3
1 v”1 the 1 picks the better one
2y’ omra Pinvn
3 And:the other grazes until it gets a mn
4 Then: when slaughtered, minn must be given to 1n2
(a) Dissent: »o1 "1 — exempt from minn
(b) Reason: ov "1 says that anytime its “replacement” is in 1n12’s hands, it is exempt
(i) Dissent: n™ says that it is 20 even if 112 72 va'9n
5 If: one of them died
(a) v they divide the (value of) the other
(b) y”r. we employ the rule of n”ynn > the jn gets nothing
ii  If: one was male and the other female, 172 gets nothing
b Justification: (for repeat of disputes »"1/0™ inn 1,3 mwn
i If: we only had n nwn, we would have thought that »"’s reasons is just because both were born from 1 animal,
doesn’ t prove that fatter one came out first,
1 But:in" mwn, where they came from 2 m5n1, the male that came from the “solo” birth is probably fatter
2 And if we only had " mwn, in that case, neither Yn7 had birthed yet;
(a) But:in'n mwn, he may have assumed that the fatter one came from the “first-timer” - 5"np
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II v mwn: status of first-born via C-section and the next one comes through birth canal

a
b

v”1. both are 1132 pav - both must graze until they get a min and then can be eaten by owners (nothing to jn2)
y”1. neither is a 1171 pav
i The first: didn’t “open the womb” (i.e. birth canal)
ii ~ The second: wasn't first
Point of departure: where do ™ and v disagree?
i v”rholds that a 7121 for one thing (e.g. first male) may be 7132 for another (1122 nVYTP)
ii ~ y”r holds that first male doesn’t make it 9132
Nn2293 (from 022773 117117, above in box): the example given (in YRynw’ 37 813, the introduction to 012 nn) of Y9
5935 IR RINW V1YY VIAY PIX RINWY — when a specific item cannot be properly understood without the 593 & vice-versa
i w77 is the 593 — but without 757, I would have thought that females are also 71132 > we need 757 (019)
1 But:if it only said 757 (the v18), I would have thought even if it follows a female - we need o177 702 (2#019)
2 And:ifit only said on7 709, I would have thought even after 1917 R¥v > we need 7192 (552)
it Analysis (»ax1 #237® 77): note that "1132” is not invoked in first clause, only at end
1 Implication: in first clause, they regard TnX 9275 1131 as full 1123; but not at end
2 Answer (7aN): they always consider TnX 9275 7131 as just that — and not nwyTpPY 22
(a) &7 "1 alone would allow for C-section = states "nn7 708" (must go through birth canal)
3 dissent (#2°37): this Rin consistently holds that Tnx 9275 11 is a full 7102
(a) And: »ov should be understood as follows:
(i) If we would think that one coming out after 1917 X%y is W17p, why would the nmn write "132"?
1. If: used to eliminate a case where female came first — "onn 909" is sufficient
2. rather: it must be there to cover a case where 1917 XX came out first —
(b) challenge (»no>7p0 Knx 77): if 1132 M0 TNR 72752 No2
(i) then: that works when both first (1917 8%v) and second (on7 717) are males — excluded as the 274 one
is not o219 M2
(i) but: if 1997 R¥Y is female and then a male comes out on1 717, should be wTp as it is D919 122
1. Rather: »ar’s analysis and ¢ onclusion are the correct ones (X111 is refuted)
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